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,4 m ,,,Q& “Activation ors.ww.om a v_o-Eo_oo&E. reaction i is mco& 8291 cal/mol. How much faster is this
mna reaction takes place at 730 K than at %G K. Ooumaa. nmmosou mm 2A - ->Product.
R% va Explain general mole balance equation and wmmoa on it aoné design nazm:on for H:cEE,
_H ; Wmmaoq : .
i WAQ Show that :5 aaocuﬁoezo: of A is 1% order reaction and evaluate rate oocmﬁma of .&m
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- W : &ﬁoB of PFRs in vmnm:&-mo:mm combinstion arrangement. Branch 2 which is parallel to
m ., L wasg I has one PFR. - ; | | ;
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